Câu 1:  [2H3-3.0-1] (SGD_ Bắc Ninh _ Lần 2 _ Năm 2022 - 2022) Trong không gian 
[image: image1.wmf]Oxyz

, cho đường thẳng 
[image: image2.wmf](

)

13

:

213

xyz

d

-+

==

-

 phương trình tham số của đường thẳng 
[image: image3.wmf]d

 là
A. 
[image: image4.wmf]12

3

3

xt

yt

zt

=+

ì

ï

=-

í

ï

=

î

.
B.  
[image: image5.wmf]2

13

3

xt

yt

z

=-+

ì

ï

=-

í

ï

=

î

.
C.  
[image: image6.wmf]12

3

3

xt

yt

zt

=+

ì

ï

=--

í

ï

=

î

.
D.  
[image: image7.wmf]2

13

3

xt

yt

z

=+

ì

ï

=--

í

ï

=

î

.
Lời giải
Chọn C
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Phương trình tham số của đường thẳng 
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